L)

3x+y) =

If (x,y) is a solution to the equatlon above and 3 X .-{- 3 :—‘

vy # 0, what is the ratio of ?

5 33X o)

X
]

—-—_\

3
=2
3

K 39

=2

b

2.) Which of the following is equivalent to (s — t) (%) ?

s
Ay =
) t



1.) Solve for O W(KC - RO) 7— M




2.) Solve for E GE+B _n_p

E=Tt)-B

Section 2.5 - Equations and Problem Solving

Objective 1: | can define variables of an equation in terms of another
variable.

Some problems contain two or more unknown quantities. To solve such
problems, first decide which unknown quantity the variable will represent.
Then express the other unknown quantity or quantities in terms of that
variable.




Geomtery PP & /e 4 0—) W

1.) The length of a rectangle is 6 in. more than its width. [The perimeter of the rectangle is 24

in. What are the ensions of the rectangle?
?“& Lhn /Q =
é

U\_ ; }\’j{:(ﬂ\/\!@/\/:z

2.) The perimeter of a rectangle is 58 inches. The width is five more than three times the

length. Write and s‘ge;_a—n %%Oh to find the diwzg ?Cg;fa[)_]-)/e
= 5:)_31/ 55 =D 7%%1’21

)=S0
@ g%ﬂ—%



3.) The perimeter of triangle is 68cm. The longest side is two more than three times the
shortest side. The third side is six less than the longestside. Write and solve an equation t
find the lengths of all three sides

3o+ 810 b t§ =k
0@ 95 -2 =6

PR e
§:zI0 5:10

‘3——‘6“(%CL

4.) The perimeter of a rectangle is 22. The length is five less
than seven times the width. Write and solve an equation

to find the dimensions of the rectangle. ? — a 2 —I'& W
(= w-5EP 12 =2 (w-5) 13

W= 7 29 ::H(/V/IDTJW
w7 i

bW”
o



5.) The width of a rectangle is one half its length. The perimeter of the rectangle is 54 crr
Write and solve an equation to find the dimensions of the rectangle.

W= @/)‘f 2(/20)+04
/{/7 s = 2124

30 =5Y
?:ﬂ ﬂ:lﬁ

Consecutive Integers

differ by 1. The integers 50 and 51 are consecutive integers, and so are -10, -9, and -8

For consecutive integer problems, it may help to define a variable before describing the

problem in words. Let a variable represent one of the unknown integers. Then define th
other unknown integers in terms of the first one.



1.) Three consecutive integers hav sumo of 102. What are these three integer

p—— L

3 774
XOXE +y+z loL

3t 2 0]“ k= X
7 =9 Nkl 2 - X4
X:% t§ Xjrl

/-

2)F cutive integers have a sum of -78. Write and solve an equation to find

tg/,z\ ,/U’ -1 \%
XU 4 xT0ars =78

Wil (el= A




a sum of 270. Write and solve a eguation

rs.e\;_umbe‘t}have (O { /b
,Z Y v 7
% A a
i +j_+2_1' X*l ::270
3X+¢f&’(70
Y =db
&l

3.) Three consecuti
to find these numbe

44 I hree}onsecutiv@@of 4 have a sum of 144. Write and solve an equation
to find these numbers.
v 1 (nt =X

v v
q '@ E=K
?X_ _{_@rlﬂ- ff =14 IeES!



5.) Four consecutive multiples of seven have a sum of 378. Write and solve an
equation to find these numbers.

Hwk #17 - due Monday
Sec. 2-5
Page: 107

Problems: 1, 2, 4, 5-9

IXL #6 - J.7 & J.8 due Friday, Oct. 5th at 4pm!



